\\\\

F] SH BON E (/(% INSTALLATION INSTRUCTIONS
™)

PART No. rB23027, FB23028, FB23085

Jeep® TJ Wrangler 1997-2006
Rock Slider — With & Without Tube Step

| wraneLan
—— aoL

OFFROAD 2}

FB23027 shown — TJ *97-06

VIDEO AVAILABLE
FB23085 shown — LJ *03-°06
TTFT Y
REQUIRED Ty TyY
r"”” O0000
00000
00000
00000 , .
FBZ3085 shown — ‘LJ’ version
REQUIRED TOOLS KIT CONTAINS QTy
16mm Socket M10 Stainless Flat Washer 10 or 12*
17mm Socket M10 Stainless Nylon Hex Nut 10 or 12*
6mm Allen M10 Stainless Countersunk Screw 10 or 12*
Drill *qty for FB23085

3/8” Drill Bit

1) REMOVE YOUR OEM SIDE STEPS OR SLIDERS
Begin by removing your factory steps or sliders (if

equipped).

2) REMOVE FACTORY HARDWARE AND LIFT BODY
Remove the three bolts holding the body to the
frame. Use a 16mm socket to remove these bolts.

2302702

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



\\\\

F] SH BON E (/(% INSTALLATION INSTRUCTIONS

OFFROAD PART No. rB23027, FB23028, FB23085

Jeep® TJ Wrangler 1997-2006
Rock Slider — With & Without Tube Step

D) e

SEE LAST PAGE FOR  PART-TO-VEHICLE
ARRANGEMENT.

3) INSTALL YOUR NEW ROCK SLIDERS
Slide the slotted ends of the slider up between the
frame and body mount. Ensure your slider is
correctly spaced front and back on your Jeep, and
flush with your Jeep’s body.

Insert your OEM bolts and start threading them to
ensure the slider is correctly positioned around the
bolts. DO NOT TORQUE THESE DOWN YET.

In the approximate location shown above, use a jack
to lift your body away from the frame. You only need
to lift a small distance to allow enough room to slide
the new rock slider in place.

Lower your jack to bring the body back down on the
frame.

4) DRILL YOUR JEEP!

2302702

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



M\

FISHBONE é(}“%‘, INSTALLATION INSTRUCTIONS
b PART No. FB23027, FB23028, FB23085

Jeep® TJ Wrangler 1997-2006
Rock Slider — With & Without Tube Step

)
OFFROAD

Open your door and pull back the carpet under the
doorsill. Ensure there is nothing in the way when you
drill into this area from the outside.

Insert the M10 bolts. Using a 6mm allen and 17mm
socket, tighten each bolt from inside your Jeep. The
front bolt will be accessed from your fender well.

Using your rock sliders as a guide, drill a pilot hole in
the center of each hole. Using a 3/8” drill bit, enlarge
the pilot holes for the supplied hardware.

You may now finish tightening your body mount
bolts.

Using some silicon or paint, touch up the sheet metal
you just drilled through to prevent rust. We
recommend using a Q-tip for application.

5) ON 2003-2006 JEEPS ONLY!
On some 2003-2006 models, the rear-most bolt may
land inside a cavity behind a “bump” in the body tub.
An access hole will need to be drilled to access this
bolt. Use a 1” hole saw on the inside of the Jeep to
create an access hole for this bolt. This hole can be
plugged with a rubber body plug after installation.

6) RINSE AND REPEAT!
Repeat these steps for the opposite side of your
Jeep.

2302702

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



OFFROAD PART No. rB23027, FB23028, FB23085

Jeep® TJ Wrangler 1997-2006
Rock Slider — With & Without Tube Step

F] SH BO N E (/@ INSTALLATION INSTRUCTIONS
A

JEEF

\ Bopy

FB23027, FB23028, FB23085 PLATE

/\ BusHING WASHER

- BusHING

BRACKET

4
2302702

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



